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(BH1-2)

=ha wlﬁﬂazﬂaﬁzr\\mwﬂawmn\% (CERBDIXEEY 53D

abcd—ab—ac—ad—bc—bd—cd+1
=abc+abd+acd+bcd—a—b—c—d

O S S SR PR SN SR =@ A
15116 J:)tanlﬁ = ERdn ZHNRD,

tanT= o/ 44242 — (V2 +1) =2.6131 —2.4142=0.1989 =ﬁ

BHEn=67205 abcd D35, B)\Dald a<5TH3,
BHEMDa=1 l10>% ERYRETH D,
Lieh'>T,2=5a<5

Ma=20D&E, abcd—ab—ac—ad—bc—bd—cd+1
=abc+abd+acd+bcd—a—b—c—d

2bcd—2b—2c—2d—bc—bd—cd+1
=2bc+2bd+2cd+bcd—2—b—c—d

bed+3=3bc+3bd+3cd+b+ct+d-s-+--- D
bed <becd+3=3bc+3bd+3cd+b+c+d=9cd+3d
bc<9c+3
b<9+-3
c

cz22d&Y 2=b6=10

(7) b=20&F, Dl 2cd+3=6¢+6d+3cd+2+c+d
cd+T7c+7d=1 (&)

1) b=3D&EF, DX 3cd+3=9c+9d+3cd+3+c+d
10c+10d =0 ()

() b=4DEE, DIE 4ecd+3=12c+12d+3cd+4+c+d
cd—13c—13d=1
(c—13)(d—13)=170
(c—13)=(d—13) &£V
(c—13,d —13)=(1,170),(2,85),(5,34),(10,17)
(c,d)=(14,183),(15,98),(18,47),(23,30)

K3 (a,b,c,d) = (2,4,14,183),(2,4,15,98),(2,4,18,47),(2,4,23,30)
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(I) b=5M&=, DIF5cd+3=15¢+15d+3cd+5+c+d
2cd — 16¢ — 16d =2
cd—8c—8d=1
(c—8)(d—8)=65
(c—8)=(d—8) &V
(c—8,d—8)=(1,65),(5,13)
(c,d)=1(9,73),(13,21)

k3 (a,b,c,d)=(2,5,9,73),(2,5,13,21)

(F)b=6 DEF, DIF 6cd+3=18c+18d+3cd+6+c+d
3cd—19¢—19d=3
9¢d — 57¢ —57d =9
(3¢—19)(3d —19) =370
(3c—19)=(3d—19) &V
(3¢—19,3d —19) = (1,370),(2,185),(5,74),(10,37)

(e.d) = (6,252),(7,68),(831),( 520

S.kwﬁ (a’b’c’d) = (276?7’68)7(276’8’31)

(Mb=TDEE, DI Ted+3=21c+21d+3cd+7+c+d

4ded —22¢c—22d =4
(2c—11)(2d —11) =125
(2c—11)=(2d—11) &Y
(2c¢—11,2d — 11) = (1,125),(5,25)
(c,d) = (6,68),(8,18)
czb &Y (c,d)=(6,68) [ET&E

K$H3(a,b,c,d)=(2,7,8,18)

(F)o=8 D&, DI 8cd+3=24c+24d+3cd+8+c+d
5cd — 25¢ —25d =5
cd—5c—5d=1
(c—5)(d—5)=26
(c—=5)=d—-5 &Y
(c—5,d—5)=(1,26),(2,13)
(¢,d) =(6,31),(7,18)
c=8 KLURNE



(D=9 DET, DIE 9cd+3=27c+27d+3cd+9+c+d
6cd — 28c — 28d =6
3cd— 14c—14d=3
9cd —42c —42d=9
(3¢ —14)(3d —14) =205
Bc—14)=(3d—14) &V
(3¢ —14,3d — 14) = (1,205),(5,41)

(e.d) = (5,73,

cz9 KUNE

()b=10 D&, DIE10cd +3=30c+30d+3cd+10+c+d
Tcd—31c—31d="17
49cd — 217¢ — 217d =49
(Tc —31)(7d — 31) = 1010
c210 &Y7c—31=39
39= (Tc—31)=(7d — 31) &V
(Tc —31)(7Td — 31) 2 1521 TAE

(2)a=3DET, abcd—ab—ac—ad—bc—bd—cd+1
=abc+abd+acd+bcd—a—b—c—d

3bcd—3b—3c—3d—bc—bd—cd+1
=3bc+3bd+3cd+bcd—3—b—c—d

2bcd +4=4bc+ 4bd +4cd+2b+ 2c+2d
bed+2=2bc+2bd+2cd+b+ct+d-eeeeeeeee D

bed <bcd~+2=2bc+2bd+2cd+b+c+d=6cd+3d
bc<6c+3
b<6+-

c

cz23 kY 3=b=6

17



(P)b=3D&T,

18

bed+2=2bc+2bd+2cd+b+c+d---D
3cd+2=6¢c+6d+2cd+3+c+d
cd—Tc—T7d=1

(c—7(d—1T7)=50

(c—1D=(d—-17) &b
(c—17,d—17)=(1,50),(2,25),(5,10)

(c,d) =(8,57),(9,32),(12,17)

*M% (a’b’c’d> = (3?3?8757)’(3’379732)’<3’3’12’17)

(Mb=4DET,

bed+2=2bc+2bd+2cd+b+c+d--D
ded+2=8c+8d+2cd+4+c+d
2¢cd—9c—9d=2

4cd —18c —18d=4

(2¢—9)(2d —9) =85

(2c—9)=(2d—9) &Y

(2¢—9,2d —9)=(1,85),(5,17)

(c,d)=(5,47),(7,13)

cz4 &Y KHD (a,b,c,d) = (3,4,5,47),(3,4,7,13)

(7)b=5 D&,

bed+2=2bc+2bd+2cd+b+c+d--D
5cd+2=10c+10d+2cd+5+c+d
3cd—11c—11d=3

9cd —33c—33d=9

(3¢—11)(3d—11)=130
Bc—11)=Bd—11) &Y
(8¢c—11,3d —11)=(1,130),(2,65),(5,26),(10,13)

(e,d) = (AT, (55 T4 50(T8)

c=5 &Y keHd(a,b,c,d)=(3,5,7,8)
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(I)b=6 D&, bed+2=2bc+2bd+2cd+b+c+d D
6cd+2=12c+12d+2cd+6+c+d
4cd—13c—13d=4
16cd — 52¢ — 52d =16
(4c —13)(4d — 13) =185
(4c—13)=(4d—13) &Y
(4c —13,4d —13) =(1,185),(5,37)

(cd) = (FD,-50) &UTE

(3a=4DET, abcd—ab—ac—ad—bc—bd—cd+1
=abc+abd+acd+bcd—a—b—c—d

4bcd—4b—4c—4d—bc—bd—cd+1
=4bc+4bd+4cd+bcd—4—b—c—d
3bcd+5=5bc+5bd+5cd+3b+3c+3d ++e--- Q)

3bcd < 3bcd+5=5bc+5bd+5cd+3b+3c+3d=15cd+9d

be<5c—+3 &) b<5+%

czbz=z4 &Y, b=4FIFb=5Thd,

FP)b=4DET, 12c¢d+5=20c+20d +5cd + 12+ 3c+3d
Tcd—23c—23d=17
49cd — 161c — 161d =49
(Tc—23)(7d — 23) =578
Tc—23=Td—23 Kl
(Tc—23,7d — 23) = (1,578),(2,289)

24 601, 25 312
(c.d) = (2000 (B 312) o

(1)b=5DEE, 15¢d +5=25¢+25d +5cd + 15+ 3¢+ 3d
10cd —28¢c —28d =10
25¢d — 70c — 70d = 25
(5¢—14)(5d — 14) =221
5¢c—14<5d—14 &Y
(5¢—14,5d — 14) = (1,221)
(c,d)=(3,47) b=c &ERYTE
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4)a=5DET, abcd—ab—ac—ad—bc—bd—cd+1
=abc+abd+acd+bcd—a—b—c—d

56cd —5b—5¢c—5d—bc—bd—cd+1
=5bc+5bd+5cd+bcd—5—b—c—d

Abcd+ 6 =6bc+ 6bd 4+ 6cd+ b+ dc+4d -+ -+ @
4bcd < Abcd ~+ 6 =6bc + 6bd + 6¢cd +4b+4c+4d < 18cd + 12d
4bc<18c+12

b<%+% SNle=5 &Y, b=5.c=5 ISR,

CDET, 100d + 6 =150+ 30d + 30d + 20 + 20 + 4d
36d =184

d=-0 T

Li=hi>To= f &, LLTFD158Y,

(a,b,c,d) =(2,4,14,183),(2,4,15,98),(2,4,18,47),(2,4,23,30)
(a,b,c,d)=(2,5,9,73),(2,5,13,21)

(a,b,c,d) =(2,6,7,68),(2,6,8,31)

(a,b,c,d)=(2,7,8,18)

(a,b,c,d) = (3,3,8,57),(3,3,9,32),(3,3,12,17)

(a,b,c,d) = (3,4,5,47),(3,4,7,13)

(a,b,c,d) = (3,5,7,8)



(F&H) BI104DDEA=ATOHADI ezf &, LT 1538

(7)(a,b,c,d)=(2,4,14,183) ---(2, 1), (4, 1), (14,1), (183, 1) D=A
(1) (a,b,c,d)=(2,4,15,98) ---+(2, 1), (4, 1), (15, 1), (98, 1) OD=AK
(D) (a,b,c,d) = (2,4,18,47) +---(2,1), (4,1), (18, 1), (47, 1) OD=AK
(I)(a,b,c,d) =(2,4,23,30) -+--(2, 1), (4, 1), (23, 1), (30, 1) D=AF
(#)(a,b,c,d) =(2,5,9,73) ++ -+~ (2,1),(5,1),09,1),(73,1) DO=FEFK
() (a,b,c,d)=(2,5,13,21) ----(2, 1), (5, 1), (13, 1), (21, 1) D=AF
(F)(a,b,c,d)=(2,6,7,68) ++-+(2,1),(6,1),(7,1),(68,1) D=
() (a,b,c,d) =(2,6,8,31) =+ ==+ (2,1),(6,1),(8,1),(31,1) D=AH
(77)(a,b,c,d) =(2,7,8,18) ==+ 2,1),(7,1),(8,1),018,1) D=AK
() (a,b,c,d)=(3,3,8,57) ++++- (3,1),(3,1),08,1),(57,1) DO=AEHK
(%) (a,b,c,d)=(3,3,9,32) =++-+ (3,1),(3,1),09,1),(32,1) =A%
() (ab,c,d)=(3,3,12,17) ---+(3, 1), (3, 1), (12, 1), (17, 1) D=AFK
(R)(a,b,c,d) = (3,4,5,47) =+~ (3,1, 4, 1),(5,1),47,1) OD=AK
()(a,b,c,d) = (3,4,7,13) +===- 3,1,4,1),7,1),03,1) D=/
(V) (a,b,c,d)=(3,5,7,8) + ==+ 3,1, (5,1D,(7,1,8,1) O=AK



